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BE TN D HEIE 1 A1 BSEOD

LBERER | {A1BYZO0 | 1A1BSEND | 1 A1BSZ00 | 1 A1BSZ00 | 1 A1B5200 | EBOFENE
BED% EEDL] BIRDH DI BROHDE NEDH D (B—8ICDF)

1| tEE 21,000 700 180 250 270 1,110
2| E & 20,400 680 170 240 270 1,040
3] & F 20,400 680 170 240 270 1,110
=R 20,400 680 170 240 270 1520
5 B M 20.400 680 170 240 270 1,110
6 W 21,300 710 180 250 280 1250
71 & 8 21.000 700 180 250 270 1,200
8| % 20,700 690 170 240 280 1,340
9 # XK 20,700 690 170 240 280 1,320
10l % 5 20,700 690 170 240 280 1,280
1] 5 % 21.000 700 180 250 270 1,810
1 F = 21,300 710 180 250 280 1,760
13| & R 21,600 720 180 250 290 2,830
14| 1831l 21,300 710 180 250 280 2,150
15| # 8 21,000 700 180 250 270 1,360
IEET 21300 710 180 250 280 1,290
17 & I 21,600 720 180 250 290 1,340
18| & # 21,900 730 180 260 290 1,220
D 21,000 700 180 250 270 1,260
20 E & 20,100 670 170 230 270 1,250
e 20,700 690 170 240 280 1,230
2 % @ 20,700 690 170 240 280 1,460
23 B A 20,400 680 170 240 270 1,560
24 = B 21,000 700 180 250 270 1,260
25 B 21,000 700 180 250 270 1,410
26 R B 21,000 700 180 250 270 1,810
271 K & 21,000 700 180 250 270 1780
28| £ B 21,000 700 180 250 270 1,580
2 £ B 20,400 680 170 240 270 1,310
30| FTW 21,000 700 180 250 270 1,170
31 8 W 21,300 710 180 250 280 1,190
2 & 18 21,300 710 180 250 280 1,150
33 B W 20,700 690 170 240 280 1,360
U L8 21,000 700 180 250 270 1410
35 W O 21,000 700 180 250 270 1,140
3| @ 8 21,300 710 180 250 280 1,160
S 21,000 700 180 250 270 1210
RIER 21.000 700 180 250 270 1,130
9 B A 21,600 720 180 250 290 1,130
40 & @ 20,100 670 170 230 270 1,430
M kB 20,700 690 170 240 280 1,170
2 E B 20,700 690 170 240 280 1,150
43| B K 21,000 700 180 250 270 1,150
4 X p 20,700 690 170 240 280 1,170
45 2 B 20,100 670 170 230 270 1,080
46| RS 20,700 690 170 240 280 1,110
47| b 8 21,600 720 180 250 290 1,290
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